(Bl#E4—1)

THBEE ARHFHFRMEEDHBRENE INSOREE (BER)

EER MEEDGES

(FBA)
1EH £48 =
LE%mEE (D 1,614,530 )
FIRAEGEEFELEMN
( I ) 470,249 (D)
(DU DBEBCES -120,625 YA FARRIERHERT
&t 1,964,154
(FH)
1EH ot =
#ZHEE(A) 1,964,154
<WmHMHNR F @WESHEE>
EHNE BEBERE WX RRE FAERIES,
= kB
BERE RSB IE Y& (m)
BHIR-THIZRET %558 47,130 47,130 0 0
FEL-FLEICEHTEEDY 0 0 0 0
BALICBE T B5EE 1,081,901 1,051,365 30,536 470,241
BEICET5EE 0 0 0 0
REBICEET5EE 0 0 0 0
XAt RAR—VIZET 5EH 300,000 300,000 0 0
(A) (B) (C) (D)
&t
1,429,031 1,398,495 30,536 470,241
EERE 535,123 535,123 8
<tEBEFHEIAEE>
<;EEwEBIE >
(RBIXTRIER (B) + (B) X 50%) X 50%=| 1,048,871 (E)
X=f2L. BERSUOTAT7TEDANGEHL S IXHEBE50% TEHE
©+®= | 1,079,407/ (F)
GEEMEBIRESE) (2,140,960)
EBWBE X EEDHBRERDENS| 1,079,407| (G)
<EE#HBE>
EBHENEE(G) x 25%=| 269,851| (H)
GEEWHBIREL) (535,240)
EEWEIZE XEBNEELEET 535.123| (1
GEBEBIEED25% (H) ERBIN RBEREDENA) (X) '

(3%) B EHBIZEN 505 A= LME & (X505 M, f=1ZL. jEE#HBIZENY 1005 AR E DB S (550%,

HBNEREEREA R ((Q) + (1) 1,614,530

(J)




(Bl#f4—2)
<FEBH T RERNR>

( EEA HEESRER)
B RIEE FAEAE
EENE EENEHE EXERE xHre
BERE BRI & e
DI B 10 E 47,130 47,130 0 0
- 0 0 0 0
BRIL-BRICRET 55E |- 0 0 0 0
B - 0 0 0 0
- 0 0 0 0
&it 47,130 47,130 0 0
QFELRSFYRK 0 0 0 0
- 0 0 0 0
FEL-HOECET [ 0 0 x °
5EH - 0 0 0 0
- 0 0 0 0
- 0 0 0 0
&Et 0 0 0 0
Dsn&HULEEZ 221,003 190,467 30,536 109,740
QBEY—EZR 708,218 708,218 0 360,501
CRUEFR - LRED 152,680 152,680 0 0
fRULICRET 558 |- 0 0 0 0
- 0 0 0 0
- 0 0 0 0
&Et 1,081,901 1,051,365 30,536 470,241
- 0 0 0 0
- 0 0 0 0
RFEIEIT 2ER | 0 0 0 0
- 0 0 0 0
- 0 0 0 0
&Et 0 0 0 0
- 0 0 0 0
- 0 0 0 0
15T 35 0 0 0 0
- 0 0 0 0
- 0 0 0 0
=1 0 0 0 0
@aAI1=TADEBSTHEEE 300,000 300,000 0 0
- 0 0 0 0
. - 0 0 0 0
K1B-Z§E—%‘JI:F£§" - 0 0 0 0
- 0 0 0 0
- 0 0 0 0
= 300,000 300,000 0 0




